

$a+1=b$     $a+b=\frac{3}{r}+\frac{1}{r}=\frac{4}{r}=2$     $1=\frac{r}{3}b \times a^{-\frac{1}{3}} \rightarrow 1=\frac{r}{3}b(1)^{-\frac{1}{3}} \rightarrow b=\frac{3}{r}$   
 $x < 1 \rightarrow f(x) = a+|x| \rightarrow \begin{cases} a-x & x < 0 \\ a+x & 0 < x < 1 \end{cases} \xrightarrow{x=1} \begin{cases} f'_-(1) = f'_+(1) \end{cases}$   
 $x > 1 \rightarrow f(x) = b|x| = bx$   
 $(1) \quad a+b=1 \leftarrow a=0 \leftarrow b=1$

$(f-2g)'(1) \rightarrow \frac{2x-4}{\sqrt[3]{2x}} - 2x \frac{|x-1|+\sqrt{2x}}{\sqrt[3]{2x}} = \frac{-2\sqrt{2x}}{\sqrt[3]{2x}}$   
 $-2x \frac{3}{\sqrt[3]{2x}} \times \sqrt[3]{2x} - \frac{2x}{\sqrt[3]{2x}} \times -2\sqrt{2x}$   
 $\xrightarrow{x=1} \left( \frac{3}{\sqrt[3]{2}} \right) - \left( \frac{2}{\sqrt[3]{2}} \times -2\sqrt{2} \right)$

$a=1 \quad \begin{cases} b+c=1 \\ b=-1 \end{cases} \rightarrow c=2 \rightarrow ac=2$

$x=a \quad \begin{cases} \text{مستقیم چپ} \rightarrow 0 \\ \text{مستقیم راست} \rightarrow m(x-a)^{m-1} \end{cases} \left\{ \begin{array}{l} 0 \neq m(x-a)^{m-1} \\ m \neq 0 \end{array} \right. \rightarrow m=1$

$g'(x) = -\frac{3}{r} \times \frac{1}{x^{\frac{4}{3}}}$   
 $f'(x) = \frac{-2}{\sqrt[3]{(2x)^4}}$   
 $(f \circ g)'(\sqrt{2}) = \left( -\frac{3}{r} \times \frac{1}{\sqrt[3]{2}} \right) \times \frac{1}{\sqrt[3]{\left(\frac{1}{r}\right)^4}}$   
 $\frac{1}{\sqrt[3]{2}} \times \frac{1}{\frac{1}{\sqrt[3]{2}}} = \frac{1}{-1\sqrt[3]{2}} \neq 1$



$$-a - (-2a - d) = 2 \rightarrow 2a + d = 2 \rightarrow a = -\frac{2}{3}$$

$$\frac{f(x)}{f'(x)} = \frac{-\frac{1}{x}}{\frac{2}{x}} = \left(-\frac{1}{2}\right)$$

٤

$$f(x) = 2(x[x^2 + \frac{1}{2}])$$

$$g(x) = -\frac{2x}{\sqrt[3]{(x-1)^4}}$$

$$(f \circ g)'(x) = g'(x) \times f'(g(x))$$

$$(f \circ g)'(\frac{2}{\sqrt{2}}) = -\frac{22}{\sqrt{2}} \times 16 \rightarrow \frac{-22 \times 16}{\sqrt{2} \times -128\sqrt{2}} = 1$$

جواب طيب  
باسم الله

٧

$$g'(-2) = f'(x+1) + 2f'(2x+1) = f'(-1) + 2f'(3)$$

$$g'(-2) = \frac{12}{2} = 6$$

٨

$$\lim_{h \rightarrow 0} \frac{f(d-h) - 2f(d-h) + 2}{dh - h^2} \xrightarrow{\text{سج}} \frac{2f'(d-h) + 2f'(d-h)}{d - 2h}$$

$$\xrightarrow{h \rightarrow 0} \frac{2f'(d) - 2f'(d)}{d} = -\frac{f'(d)}{d} \rightarrow -\frac{\frac{20}{12}}{d} = -\frac{5}{12}$$

$$1 \times \sqrt[3]{x+3} + \frac{x-3}{\sqrt[3]{(x+3)^2}} \xrightarrow{x=2} 2 + \frac{1}{12} = \frac{25}{12}$$

$$2y = 2x + 1 \rightarrow y = \frac{1}{2}x + \frac{1}{2} \rightarrow m = \frac{1}{2} \rightarrow m' = -2$$

$$x^2 - 5x + d \xrightarrow{\text{سج}} 2x - 5 = -2 \rightarrow x = 1 \rightarrow (1)^2 - 5(1) + d = 2$$

نقطه: (1, 2)

١٠

$$y = f(g(u)) \rightarrow y' = g'(u) f'(g(u)) \xrightarrow{u = \frac{r}{\sqrt{\lambda}}} y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'\left(\underbrace{g\left(\frac{r}{\sqrt{\lambda}}\right)}_r\right) \rightarrow y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'(r) \quad \text{سوال ٧}$$

$$g(u) = \frac{1}{\sqrt[3]{2u-1}} = (2u-1)^{-\frac{1}{3}} \rightarrow g'(u) = -\frac{1}{3} (2u-1)^{-\frac{4}{3}} \times 2 = -\frac{2}{3} (2u-1)^{-\frac{4}{3}}$$

$$g'\left(\frac{r}{\sqrt{\lambda}}\right) = -\frac{2}{3} \times \frac{r}{\sqrt{\lambda}} \left(\frac{1}{\lambda}\right)^{-\frac{4}{3}} = -\frac{2}{3} \times r^{\frac{2}{3}} = -\frac{2 \times \sqrt[3]{r}}{3} = -\frac{2}{3} \sqrt[3]{r} \rightarrow \underline{g'\left(\frac{r}{\sqrt{\lambda}}\right) = -\frac{2}{3} \sqrt[3]{r}}$$

$$f(u) = 19u^2 + 1 \rightarrow f'(u) = 38u \rightarrow \underline{f'(r) = 38r}$$

$$y' = g'\left(\frac{r}{\sqrt{\lambda}}\right) f'(r) = -\frac{2}{3} \sqrt[3]{r} \times 38r = r \times (-\frac{76}{3} \sqrt[3]{r}) \rightarrow \underline{\underline{r \times (-\frac{76}{3} \sqrt[3]{r})}}$$